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Unit 4: Review 11 Date Per:

e A

Parallel Lines and Transversals

Same Side Interior Angles
Same Side Exterior Angles
Alternate Interior Angles
Alternate Exterior Angles
Corresponding Angles
Vertical Angles <
Linear Pair

Refer to the above figure and identify the special angle pair name.

1) /3 and ~13 Same Side Interior 2) s8and ~10 Alternate Exterior
3) /11and ~15 _Corresponding 4) s8and v6 _ Vertical

5) Z1and £6 Alternate Interior 6) /6 and 210 _Corresponding

7) Z14and /15 _Linear Pair 8) #2and v9 _ None

Let m/1 =115° and m£12 = 110°. Find the missing angles.
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9. m/9= 115° 10. mz4 = 110° 11. m/10= 65° 12. mz11= 70°
13. ms/g8= 70° 14. m/5= 65° 15. mz3=_70° 16. m/14= 115°

Refer to the above figure and identify the special angle pair name.

17) #7and ~2 _ Alternate Interior 18) £6and /14 Corresponding

19) £13 and 212 Alternate Exterior ., ;.47 Same Side Interior

21) /4 and /8 Linear Pair 22) /13and 216 Same Side Exterior
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informatiomn.

23) Angle relationship Alternate Exterior: ~

ms1=3x-17°
ms2=x+1°
3x-17=x+1
2x=18
x=9

x=i msz1=_10° 4 5- 10°

k=_6
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24) Angle relationship_Same Side Exterior:

ms/3 =20k +11°
ms4=8k+1°

20k+11+8k+1=180

Supplementary

28k+12 =180
28k =166
k=6

m/3=131ms4=49°

For problems 25-26, use the figure below to identify the angle relationship. Then, find the missing

informatiomn.

25) Angle relationship Linear Pair:

m/1=95°+7h Supplementary
m/2=55°-h

95+7h+55-h=180

6h + 150 =180
6h =30
h=5

h=5 m/1=130%0m,2= 500

26) Angle relationship Alternate Exterior: ~

ms3=5k+12°
mZ4=7k-16° gp 4 12 = 7k- 16
-2k =-28
k=4

k= 14 m/3- 8201m,4- 820

Use the figure below to identify the angle relationship. Then, find the missing information.

27)  Angle relationship <1 & <2 <2&<3

<1&<3

m/1=7y+16 Vertical Pair:~ Corresponding:~ Alternate Exterior:~
zjézzzli—gg 2x=4x-30 7y + 16 = 30
-2x=-30 7y =14 < i/ —
x=15 y=2
x=_15 y=_2 ms1= 30° ms2= 300 s 300
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